S MbaXh‘ eme Lowiul(’ilg:t(iatgofBar

Fitting Instructions
Manufacturers of Subaru Accessories XV 2012 -

NBSP-070

1/ Open Bonnet.

2/ Remove the original plastic bumper cover with grill.

3/ Remove original alloy bumper reinforcement bar.

4/ Place the supplied steel mounting brackets between the reinforcement bar and the front chassis.
Refit the original bumper reinforcement bar using the original nuts and tighten.
Where necessary, trim original plastic sections around nudge bar steel mounts.

5/ Trim vents in plastic bumper to allow brackets to protrude-see photo below.

6/ Carefully refit the original plastic bumper cover.

7/ Fit alloy bar to vehicle, loosely bolt in place using supplied 4 x M12 bolts, lock nuts & washers.

8/ Align as required and tighten bolts.

T Tube) You can view the fitting video on our YouTube channel at the following address:-
https://www.youtube.com/watch?v=us-O1RmRorc

"

1 - Aluminium Bar

2 - Steel mounting brackets
1 - Fitting instruction

4 - M12 Bolts

4 - M12 Nyloc Nuts

4 - M12 Washers

8 - M8 Bolts

8 - M8 washers

Photo to show position of bracket through grill



